The hexadecimal multiplication table called  « Bi lo bi la bi. »
	×
	B
	P
	V
	F
	Z
	S
	D
	T
	J
	C
	G
	K
	Y
	X
	W
	BQ

	B
	bi
	pi
	vi
	fi
	zi
	si
	di
	ti
	ji
	ci
	gi
	ki
	yi
	xi
	wi
	be

	P
	pi
	fi
	si
	ti
	ci
	ki
	xi
	be
	bepi
	befi
	besi
	beti
	beci
	beki
	bexi
	pe

	V
	vi
	si
	ji
	ki
	wi
	bepi
	bezi
	beti
	begi
	bexi
	pebi
	pefi
	pedi
	peci
	peyi
	ve

	F
	fi
	ti
	ki
	be
	befi
	beti
	beki
	pe
	pefi
	peti
	peki
	ve
	vefi
	veti
	veki
	fe

	Z
	zi
	ci
	wi
	befi
	beji
	bexi
	pevi
	peti
	peyi
	vepi
	vedi
	veki
	febi
	fesi
	fegi
	ze

	S
	si
	ki
	bepi
	beti
	bexi
	pefi
	peci
	ve
	vesi
	veki
	fepi
	feti
	fexi
	zefi
	zeci
	se

	D
	di
	xi
	bezi
	beki
	pevi
	peci
	vebi
	veti
	vewi
	fesi
	feyi
	zefi
	zegi
	sepi
	seji
	de

	T
	ti
	be
	beti
	pe
	peti
	ve
	veti
	fe
	feti
	ze
	zeti
	se
	seti
	de
	deti
	te

	J
	ji
	bepi
	begi
	pefi
	peyi
	vesi
	vewi
	feti
	zebi
	zeci
	sevi
	seki
	dezi
	dexi
	tedi
	je

	C
	ci
	befi
	bexi
	peti
	vepi
	veki
	fesi
	ze
	zeci
	sefi
	sexi
	deti
	tepi
	teki
	jesi
	ce

	G
	gi
	besi
	pebi
	peki
	vedi
	fepi
	feyi
	zeti
	sevi
	sexi
	deji
	tefi
	tewi
	jeci
	cezi
	ge

	K
	ki
	beti
	pefi
	ve
	veki
	feti
	zefi
	se
	seki
	deti
	tefi
	je
	jeki
	ceti
	gefi
	ke

	Y
	yi
	beci
	pedi
	vefi
	febi
	fexi
	zegi
	seti
	dezi
	tepi
	tewi
	jeki
	ceji
	gesi
	kevi
	ye

	X
	xi
	beki
	peci
	veti
	fesi
	zefi
	sepi
	de
	dexi
	teki
	jeci
	ceti
	gesi
	kefi
	yepi
	xe

	W
	wi
	bexi
	peyi
	veki
	fegi
	zeci
	seji
	deti
	tedi
	jesi
	cezi
	gefi
	kevi
	yepi
	xebi
	we

	BQ
	be
	pe
	ve
	fe
	ze
	se
	de
	te
	je
	ce
	ge
	ke
	ye
	xe
	we
	ba


	Example:  
	W × Y = KV
	Wi lo yi la kevi.
	Fifteen times thirteen is twelfty-three.

	IBM-Hex:  
	F × D = C3
	
	


Further explication at  http://hexadecimal.florencetime.net/Bi_lo_bi_la_bi.htm
